Analysis and Results

Assumptions/values:

Rplanet= Rp= 2.50 x Rearth

Mplanet= 9.70 x Mearth

Rstar =Rs= 0.65 X Rsun

Mid transit time = 0.46 days

Transit depth (estimated from curve) =td = 0.18%
Mistar = 0.73 x Mgy = 1.45153 x 10%%kg
G =6.6743 x 10 m3kgls?

1AE = 149 597 870.7 km

Rearth= 6 378 km

Rsun= 695700 km

Moun = 1.9884 x 1030 kg

Mearth = 5.9722 x 10%*kg

Histograms of the statistical probability of all parameter values of TOI-560c
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These are the data that were determined through the “allesfitter” program, which used data acquired
by CHEOPS using the transit method.



Radius of the planet:
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Orbital period:
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Orbital distance:
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Density (by determining the Volume):
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